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Al 18 Jem= [ 78 x10°|m?
w2 Jx

He=| 565  |mm= [ 0565 |m

t=[ 370 Jmm= [0370 |m

Lg= 178 mm(Lg=L/2)= [0.178 |m

z=[ 10
Kv=Kh/2=
Fhekh-w-08=[ 12740 |N
Fv=kv-w-98=[ 6370 |N
Fh:Heg-(W-9.8-Fv)-Lg
Rb= —— =[ 8195 |N
Lot
a=Fh/N=[ 3185 |N
HRILH(SSA00)DHBBIRIEA ft
o=Rb/A=[ 105 MPa  <ft=176MPa
RILE (SSA00DEHBEAMIGH fs
T=0/A= MPa  <fs=101MPa
fte=14ft-167= 2308 |MPa
fts' >ftD & Efts=FtTHID T fts= 176.0 MPa
o= 10.5 < fts= 176.0 MPa
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s 120 wm= [ 0120 m
=[ 80 |mm="[ 0080 |m

Ta=[__ 7600 N > Ro= [ 8195 |N
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Hg = 565 mm
Lg= 178 mm
X= 423 mm
L= 370 mm



